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AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP Aa_¨ £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õP öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ GÊxÁuØS® AiU÷PõikÁuØS®
£¯ß£kzu ÷Ásk®. £h[PÒ ÁøµÁuØS  ö£ß]À
£¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

SÔ¨¦ : CÆÂÚõzuõÒ |õßS £SvPøÍU öPõshx.

Note : This question paper contains four parts.

£Sv & I / PART - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 12x1=12

(ii) öPõkUP¨£mh |õßS ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøh°øÚ
÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. µõUöPm HÄu¼À __________ Âv/PÒ £¯ß£kzu¨£kQÓx.

(A) {³mhÛß ‰ßÓõ® Âv

(B) {³mhÛß ö£õx Dº¨¤¯À Âv

(C) ÷|º÷Põmk E¢u ©õÓõU ÷Põm£õk

(D) (A) ©ØÖ® (C)

To project the rockets which of the following principle(s) is/are required ?

(a) Newton’s third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

2. ªßuøh°ß SI A»S __________.

(A) ÷©õ (B) áüÀ (C) K® (D) Áõm

SI unit of resistance is __________.

(a) Mho (b) Joule (c) Ohm (d) Watt

3. J¼ Aø»PÒ __________ vø\ ÷ÁPzvÀ (NTP) £µÄ®.

(A) 340×108 «/Â (B) 340 «/Â

(C) 3×108 «/Â (D) 3×10−8 «/Â

Sound waves travel in air with a speed of about __________ at NTP.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s
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4. Pv›¯UPzvß A»S __________.

(A) µõsmáß (B) Q³›

(C) ö£UöPõµÀ (D) CøÁ AøÚzx®

Unit of radioactivity is __________.

(a) Roentgen (b) Curie

(c) Becquerel (d) All of the above

5. ¨µåº SUPºPÒ ö\´¯¨ £¯ß£k® E÷»õPU P»øÁ __________.

(A) ¤zuøÍ (B) öÁsP»®

(C) ö©UÚ¼¯® (D) i²µõ¾ªß

Alloy used in the manufacturing of pressure cooker is __________.

(a) Brass (b) Bronze

(c) Magnalium (d) Duralumin

6. J¸ P›© ÷\º©zvß IUPAC ö£¯º ö©zvÀ ¤³mhß-1-BÀ. Cx G¢u ÁøPa

÷\º©®?

(A) BÀiøík (B) Põº£õU]¼U Aª»®

(C) Rm÷hõß (D) BÀPíõÀ

The IUPAC name of an organic compound is 3-methyl butan-1-ol.  What type of

compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol
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7. Cµzu ÁøPPøÍ PshÔ¢uÁº __________.

(A) Â¯ßÚº (B) PõµÀ ÷»smìjÚº

(C) ÂÀ¼¯® íõºÂ (D) îì

The concept of blood group is derived by __________.

(a) Wiener (b) Karl Landsteiner

(c) William Harvey (d) His

8. ]ß÷Pª°ß ÂøÍÁõÀ E¸ÁõÁx __________.

(A) `ì÷£õºPÒ (B) öPõÛi¯õ

(C) ø\÷Põm (P¸•møh) (D) QÍõª÷hõì÷£õºPÒ

Syngamy results in the formation of __________.

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

9. Â¢x E¸ÁõUPzvØS Fmh©ÎUS® ö£›¯ }m]¯øh¢u ö\ÀPÒ

__________.

(A) •uÀ{ø» Â¢x ÁÍº E°µq

(B) ö\º÷hõ¼ ö\ÀPÒ

(C) ½iU ö\ÀPÒ

(D) ìö£º©m÷hõ÷PõÛ¯õ

The large elongated cells that provide nutrition to developing sperms are __________.

(a) Primary germ cells

(b) Sertoli cells

(c) Leydig cells

(d) Spermatogonia
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10. •ß¤¸¢u E°›°À C¸¢xuõß E°º ÷uõßÔ¯x Gß£øu {¹¤zuÁº.

(A) ¿°ì £õìhº (B) K£õ›ß

(C) íõÀ÷hß (D) »õ©õºU

Life originates from pre-existing life was showed by :

(a) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck

11. §\õ ÷Põ©À Gß£x __________ Cß ÷|õ´ Gvº¨¦z vÓß ö£ØÓ µP® BS®.

(A) P¸®¦ (B) ö|À

(C) umøh¨£°Ö (D) ©UPõa÷\õÍ®

Pusa Komal is a disease resistant variety of __________.

(a) Sugar cane (b) Rice

(c) Cow pea (d) Maize

12. \kv©õØÓzvß ‰»® EØ£zv ö\´¯¨£mh __________ GßÓ ö|À µP®

EÁºußø© Áõ´¢u ©soÀ ö\Èzx ÁÍ¸®.

(A) \º£v öéõÚõµõ (B) Amhõªmhõ 2

(C) §\õ PÄµÆ (D) î®Q›

__________ is a rice variety produced by mutation breeding that grows well in saline

soil.

(a) Sharbati Sonora (b) Atomita 2

(c) Pusa Gaurav (d) Himgiri
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£Sv - II/PART - II

SÔ¨¦ : GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs.

22 --US Pmhõ¯©õP Âøh¯ÎUPÄ®.

Note : Answer any seven questions.  Question No. 22 is compulsory.

13. J¼ Aø»PÒ PõØÔÀ £µÄ®÷£õx Auß xPÒPÒ __________.

(A) Aø»°ß vø\°À AvºÄÖ®

(B) AvºÄÖ®, BÚõÀ SÔ¨¤mh vø\ CÀø»

(C) Aø»°ß vø\US ö\[SzuõP AvºÄÖ®

(D) AvºÄÖÁvÀø»

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (A) ö\Â²nº J¼°ß AvºöÁs GßÚ?

(B) Gvöµõ¼USz ÷uøÁ¯õÚ SøÓ¢u£m\z öuõø»Ä GßÚ?

(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

15. GzuÚõ¼ß £¯ßPÒ CµsiøÚ GÊxP.

Write any 2  uses of Ethanol.

7x2=14
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16. _Áõ\ DÄ GßÓõÀ GßÚ?

What is respiratory quotient ?

17. ©Ûu Â¢x ö\À¼ß £h® Áøµ¢x £õP[PøÍ SÔUPÄ®.

Draw and label the parts of a sperm.

18. £›nõ©® GßÓõÀ GßÚ?

What is called evolution ?

19. EhÀ ö\À ãß ]Qaø\ ©ØÖ® CÚ ö\À ãß ]Qaø\UQøh÷¯ EÒÍ

÷ÁÖ£õmiøÚ GÊxP.

Distinguish between somatic gene therapy and germ line gene therapy.

20. ¦ØÖ ö\À, \õuõµn ö\À¼¼¸¢x GÆÁõÖ ÷ÁÖ£kQÓx?

How is Cancer Cell different from Normal Cell ?

21. ªßÚqU PÈÄPÒ GÆÁõÖ EØ£zv¯õQßÓÚ?

How are e-wastes generated ?

22. AÁ÷Pm÷µõ Âvø¯U TÖP.

State Avogadro’s Law.
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£Sv - III/PART - III

SÔ¨¦ : GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs.

32 --US Pmhõ¯©õP Âøh¯ÎUPÄ®.

Note : Answer any seven questions.  Question No. 32 is compulsory.

23. (A) ¤ßÁ¸® ªßTÖPÐUS SÔ±miøÚ GÊxP.

(i) uøµ Cøn¨¦ (ii) ªßuøh¯õUQ

(iii) JÎªß øh÷¯õk (iv) øh÷¯õk

(B) 12 T¾® ªß÷Úõmh® 5 Â|õi ÷|µ® J¸ ªßÂÍUQß ÁÈ¯õP

£õ´QÓx GÛÀ, Auß ÁÈ÷¯ ö\À¾® ªß÷Úõmhzvß AÍÄ GßÚ?

(a) Write the symbol for the following component.

(i) Ground connection (ii) Resistor

(iii) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds.  What is the current

through the bulb ?

24. (A) AqUPmk Gs - Áøµ¯ÖUPÄ®.

(B) CO
2
 -Âß ‰»UTÖ {øÓø¯ PnUQkP.

(a) Define Atomicity.

(b) Calculate the molecular mass of CO
2
.

25. (A) x¸ GÆÁõÖ HØ£kQÓx? x¸ E¸ÁõSÁuß \©ß£õmøh u¸P.

(B) A›©õÚzøu ukUS® •øÓPÒ GøÁ÷¯Ý® CµsiøÚ¨ £ØÔ

GÊxP.

(a) How is rust formed ?  Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.

7x4=28
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26. (A) JÎa÷\ºUøP GßÓõÀ GßÚ? Cx ö\À¼À G[S |øhö£ÖQÓx?

(B) PõØÖ _Áõ\® ©ØÖ® PõØÔÀ»õ _Áõ\® & ÷ÁÖ£kzxP.

(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

27. Áõ² {ø»°À EÒÍ uõÁµ íõº÷©õß Gx? Auß ÁõÌÂ¯À ÂøÍÄPÒ

H÷uÝ® ‰ßÔøÚ GÊxP.

Name the gaseous plant hormone.  Mention any three of its physiological effects in

plants.

28. (A) ©Pµ¢u ÷\ºUøP GßÓõÀ GßÚ?

(B) ©Pµ¢u ÷\ºUøP°ß £¯ßPøÍ TÖP.

(a) What is pollination ?

(b) State the importance of pollination.

29. S÷µõ÷©õ÷\õªß Aø©¨ø£ ÂÁ›UPÄ®.

Explain the structure of chromosome.

30. ©¸zxÁzxøÓ°À E°º öuõÈÀ~m£Â¯¼ß •UQ¯zxÁzøu GÊxP.

Discuss the importance of biotechnology in the field of medicine.

31. ©øÇ}º ÷\ª¨¦ Aø©¨¦PÒ GÆÁõÖ {»zui }º©mhzøu AvP›UPa

ö\´QßÓÚ?

How do rainwater harvesting structures recharge ground water ?

32.
92

U238 GßÓ uÛ©® BÀ£õ ]øuÂØS Em£kQÓx GÛÀ, ÷\´ uÛ©zvÀ

EÒÍ {³mµõßPÎß GsoUøPø¯U PnUQkP.

92
U238 experiences α-decay.  Find the number of neutrons in the daughter element.
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£Sv - IV/PART - IV

SÔ¨¦ : AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®.  ÷uøÁ¯õÚ Ch[PÎÀ

£h® ÁøµP.

Note : Answer all the questions.  Draw diagrams wherever necessary.

33. (A) {³mhÛß C¯UPzvØPõÚ ÂvPøÍ ÂÍUSP.

AÀ»x

(B) (i) Qmh¨£õºøÁ, yµ¨£õºøÁ SøÓ£õkPøÍ ÷ÁÖ£kzxP.

(ii) SÂö»ß]ß £¯ßPÒ CµsiøÚ GÊxP.

(a) State Newton’s laws of motion.

OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(ii) Write any 2 applications of concave lens.

34. (A) (i) MgSO
4 
⋅ 7H

2
O E¨ø£ öÁ¨£¨£kzx®÷£õx GßÚ {PÌQÓx?

(ii) Dµ® EÔg_® ÷\º©[PÒ ©ØÖ® Dµ® EÔg]U Pøµ²®

÷\º©[PøÍ GkzxUPõmkhß ÂÍUSP.

AÀ»x

(B) (i) öÁ¨£a]øuÄ ÂøÚPÒ GßÓõÀ GßÚ?

(ii) «ÒÂøÚ & «Íõ ÂøÚ ÷ÁÖ£kzxP.

(a) (i) What happens when MgSO
4
⋅7H

2
O is heated ?  Write the appropriate

equation.

(ii) Explain hygroscopic substances and deliquescent substances with examples.

OR

(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.

3x7=21
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35. (A) (i) Cµzuzvß £oPøÍ £mi¯¼kP.

(ii) Cø»zxøÍPÒ vÓ¨£uØS® ‰kÁuØS® Põµn©õÚ Aø©¨¦

Põ¨¦ ö\ÀPÒ BS®.  CUTØÖUPõÚ Põµn[PøÍz u¸P.

AÀ»x

(B) (i) ©x A¸¢x£ÁºPÐUS HØ£k® ¤µa]øÚPøÍ \› ö\´ÁuØPõÚ

wºøÁz u¸P.

(ii) EhØ£¸©ÝUSU Põµn©õÚ PõµoPÒ GøÁ?

(a) (i) Enumerate the functions of blood.

(ii) Guard cells are responsible for opening and closing of stomata.  Give reason

for this statement.

OR

(b) (i) Suggest measures to overcome the problems of an alcoholic.

(ii) What are the contributing factors for obesity ?

- o O o -
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>∑eTìø£  : á Á|üX̄ï |üÁ‹ø£̋ À Hê\T>∑T uÛ≤>∑eTT\T ñHêïsTT.

Note : This question paper contains four parts.

uÛ≤>∑+ - I / PART - I

>∑eTìø£ : (i)  nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 12x1=12

(ii) Ç∫Ãq Hê\T>∑T Á|ü‘ê´e÷ïj·÷\qT+∫ ôV≤#·TÃ dü¬s’q<ëìì m+#·Tø=q+&ç eT]j·TT Ä|ü̧Hé
ø√&éqT eT]j·TT dü+ã+~Û‘· düe÷<ÛëHêìï sêj·T+&ç.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. sê¬ø≥¢qT Á|üjÓ÷–+#̊+<äT≈£î ~>∑Te yê{Ï̋ À @ dü÷‘·Á+(\T) nedüs¡+ ?

(a) q÷´≥Hé eT÷&√ #·\q dü÷Á‘·+

(b) q÷´≥Hé jÓTTø£ÿ >∑Ts¡T‘ê«ø£s¡̧D dæ<ë∆+‘·+

(c) ˝≤ Ä|òt ø£q®πs«wüHé Ä|òt ©ìj·TsY eT÷yÓT+≥yéT

(d) (a) eT]j·TT (c) ¬s+&É÷

To project the rockets which of the following principle(s) is/are required ?

(a) Newton’s third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

2. ìs√<Ûäø£‘·≈£î SI Á|üe÷D+ __________.

(a) yÓ÷ (b) CÖ˝Ÿ (c) zyéT (d) yê{Ÿ

SI unit of resistance is __________.

(a) Mho (b) Joule (c) Ohm (d) Watt

3. mHé.{Ï.|”. e<ä› __________ ≈£î $T+∫q ẙ>∑+‘√ >±*˝À <Ûä«ì‘·s¡+>±\T Á|üj·÷DÏkÕÔsTT.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s

Sound waves travel in air with a speed of about __________ at NTP.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s
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4. πs&çjÓ÷<Ûë]àø£‘· Á|üe÷D+ __________.

(a) s√jÓT+{ŸC…Hé (b) ≈£L´Ø

(c) u…ø̆¬ø«s¡˝Ÿ (d) ô|’e˙ï

Unit of radioactivity is __________.

(a) Roentgen (b) Curie

(c) Becquerel (d) All of the above

5. Áô|wüsY ≈£îø£sY ‘·j·÷Ø˝À ñ|üjÓ÷–+#̊ $TÁX̄eT ˝ÀVü≤+ __________.

(a) Ç‘·Ô&ç (b) ø±+dü´+ (c) y˚T>±ï*j·T+ (d) &ÉTsê\T$THé

Alloy used in the manufacturing of pressure cooker is __________.

(a) Brass (b) Bronze (c) Magnalium (d) Duralumin

6. ˇø£ ÄsêZìø̆ düẙTàfīq+ jÓTTø£ÿ IUPAC ù|s¡T 3-$T<∏Ó’̋ Ÿ ãT{≤Hé-1-ol.  n~ @ s¡ø£|ü⁄ düẙTàfīq+ ?

(a) n Ò̋¶ôV’≤&é (b) ø±sê“øÏ‡*ø̆ j·÷dæ&é

(c) ¬ø{ÀHé (d)  Ä\ÿVü‰˝Ÿ

The IUPAC name of an organic compound is 3-methyl butan-1-ol.  What type of
compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol
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7. ã¢&é Á>∑÷|t uÛ≤eqqT ø£qT>=qï~ __________.

(a) yÓ’HÓsY (b) ø±sY¢ ˝≤´+&éôdºsTTqsY

(c) $*j·T+ Vü‰πs« (d) Væ≤CŸ

The concept of blood group is derived by __________.

(a) Wiener (b) Karl Landsteiner

(c) William Harvey (d) His

8. __________ s¡÷|ü⁄~<äT›≈£îqï |òü*‘·y˚T dü+j·TTø£Ô dü+jÓ÷>∑+.

(a) pdtb˛sY‡ (>∑eTqdæ<ä∆ ;»+) (b)  ø=ì&çj·÷

(c)  C…’>√{Ÿ (d)  ø±¢$T&√k˛ŒsY‡

Syngamy results in the formation of __________.

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

9. Msê´ìï n_Ûeè~∆ #̊ùd+<äT≈£î b˛wüø±\qT düeT≈£LπsÃ ô|<ä› bı&ÉT>∑T ø£D≤\T __________.

(a) ÁbÕ<∏ä$Tø£ C…sYà ø£D≤\T (b) ôds√º* ø£D≤\T

(c) Ò̋&ç>¥ ø£D≤\T (d) ôdŒs¡à{À>√ìj·÷

The large elongated cells that provide nutrition to developing sperms are __________.

(a) Primary germ cells (b) Sertoli cells

(c) Leydig cells (d) Spermatogonia
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10. >∑‘·+˝À ñqï Je+ qT+∫ Je+ |ü⁄≥Tº≈£îsêe&É+qT Á|ü<ä]Ù+∫q yês¡T :

(a) \÷sTTdt bÕX̄ÃsY (b) ˇ|ü]Hé (c) Vü‰˝Ò¶Hé (d) ˝≤e÷sYÿ

Life originates from pre-existing life was showed by :

(a) Louis Pasteur (b) Oparin (c) Haldane (d) Lamarck

11. |ü⁄kÕ ø√eT˝Ÿ nH̊~ __________ ≈£î #Ó+~q yê´~Ûìs√<Ûäø£ s¡ø£+.

(a) #Ós¡≈£î (b) e]

(c) øö |” (ã{≤DÏ#Ó≥Tº) (d) eTø£ÿC§qï

Pusa Komal is a disease resistant variety of __________.

(a) Sugar cane (b) Rice

(c) Cow pea (d) Maize

12. __________ nH˚~ eTT´fÒwüHé ø±s¡D+>± ñ‘·Œ‹Ô #̊j·Tã&çq e] s¡ø£+, Ç~ øå±s¡ H˚\˝À¢ u≤>±
|ü+&ÉT‘·T+~.

(a) wüs¡“‹ kıH=sê (b) n{À$T{≤ 2 (c) |üPkÕ >ös¡yé (d) Væ≤yéT–]

__________ is a rice variety produced by mutation breeding that grows well in saline
soil.

(a) Sharbati Sonora (b) Atomita 2 (c) Pusa Gaurav (d) Himgiri
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uÛ≤>∑+ - II/PART - II

>∑eTìø£ : @ẙì @&ÉT Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. Á|üX̄ï dü+K´  22 ‘·|üŒìdü].

Note : Answer any seven questions.  Question No. 22 is compulsory.

13. >±* qT+∫ X̄ã› ‘·s¡+>∑+ Á|üj·÷DÏdüTÔqï|üŒó&ÉT, >±* nDTe⁄\T :

(a) ‘·s¡+>∑+ ø£<ä*ø£ ~X̄˝À ø£+|ækÕÔsTT.

(b) ø£+|ækÕÔsTT ø±˙ @<Ó’Hê dæús¡ ~X̄˝À ø±<äT.

(c) ‘·s¡+>∑+ ø£<ä*ø£ ~X̄≈£î \+ã+>± ø£+|ækÕÔsTT.

(d) ø£+|æ+#·e⁄.

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (a) ÁXÊe´‘· bÂq:|ü⁄q´+ n+fÒ @$T{Ï ?

(b) mø√ ø√dü+ nedüs¡eTj̊T´ ø£̇ dü <ä÷s¡+ @~ ?

(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

7x2=14
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15. m<∏äHê˝Ÿ jÓTTø£ÿ @yÓ’Hê 2  ñ|üjÓ÷>±\qT sêj·T+&ç.

Write any 2  uses of Ethanol.

16. XÊ«düdü+ã+<Ûä >∑TDø£+ (¬sdæ|æπs≥Ø ø√wæjÓT+{Ÿ) n+fÒ @+{Ï ?

What is respiratory quotient ?

17. Ms¡́ ø£D+ u§eTà ^dæ eT]j·TT uÛ≤>±\T >∑T]Ô+#·+&ç.

Draw and label the parts of a sperm.

18. |ü]D≤eT+ nì <̊ìï n+{≤s¡T ?

What is called evolution ?

19. k˛e÷{Ïø˘ JHé <∏Ós¡|” eT]j·TT C…sYà ˝…’Hé JHé <∏Ós¡|” eT<Ûä´ ‘˚&Ü˝Ò+{Ï ?

Distinguish between somatic gene therapy and germ line gene therapy.

20. kÕ<Ûës¡D ø£D+‘√ b˛*ùdÔ πøq‡sY ø£D+ m˝≤ $_Ûqï+>± ñ+≥T+~ ?

How is Cancer Cell different from Normal Cell ?
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21. Ç`e´sêú\T m˝≤ ñ‘·ŒqïeTe⁄‘êsTT ?

How are e-wastes generated ?

22. ne>±Á&√ dü÷Á‘êìï ‘Ó*j·TCÒj·T+&ç.

State Avogadro’s Law.

uÛ≤>∑+ - III/PART - III

>∑eTìø£ : @yÓ’Hê @&ÉT Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. Á|üX̄ï dü+K´ 32 ‘·|üŒìdü].

Note : Answer any seven questions.  Question No. 32 is compulsory.

23. (a) ~>∑Te uÛ≤>±\≈£î >∑Ts¡TÔ\ (dæ+ã˝Ÿ‡)qT sêj·T+&ç.

(i) Á>ö+&é ø£HÓø£åHé (ii) ìs√<Ûäø£eTT

(iii) ø±+‹ ñ<ëZ]‘· &Ó’jÓ÷&é (iv) &Ó’jÓ÷&é

(b)  5 ôdø£q¢̋ À ˇø£ ã\T“ <ë«sê 12 ≈£L\TyéT ÄẙX̄+ Á|üeVæ≤+∫+~. ã\T“ ˝Àì Á|üyêVü≤+ m+‘· ?

(a) Write the symbol for the following component.

(i) Ground connection (ii) Resistor

(iii) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds.  What is the current
through the bulb ?

7x4=28
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24. (a) |üs¡e÷DTø£‘·qT ìs¡«∫+#·+&ç.

(b) CO
2 
nDT Á<äe´sê•ì …̋øÏÿ+#·+&ç.

(a) Define Atomicity.

(b) Calculate the molecular mass of CO
2
.

25. (a) ‘·T|ü⁄Œ m˝≤ @s¡Œ&ÉT‘·T+~ ?  ‘·T|ü⁄Œ s¡÷|ü⁄~<äT›≈£îH˚+<äT≈£î düMTø£s¡D+ Çe«+&ç.

(b) uÛÑø£åDqT ìs√~Û+#̊ 2 $<ÛëHê\qT ‘Ó*j·TCÒj·T+&ç.

(a) How is rust formed ?  Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.

26. (a) øÏs¡D»q´dü+jÓ÷>∑ ÁøÏj·T n+fÒ @$T{Ï eT]j·TT ø£D+˝À n~ mø£ÿ&É »s¡T>∑T‘·T+~ ?

(b) yêj·TTdüVæ≤‘· XÊ«düÁøÏj·T eT]j·TT nyêj·TT XÊ«düÁøÏj·T eT<Ûä́  ‘&̊Ü˝qT ‘Ó*j·T|üs¡Ã+&ç.

(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

27. yêj·TTs¡÷|ü+˝Àì bÕ¢+{Ÿ Vü‰s√àHé ù|s¡T ‘Ó*j·TCÒj·T+&ç. yÓTTø£ÿ\ô|’ <ëì jÓTTø£ÿ ÁøÏj·÷‘·àø£ Á|üuÛ≤yê\T
@ẙì eT÷&ç+{Ïì ‘Ó*j·TCÒj·T+&ç.

Name the gaseous plant hormone.  Mention any three of its physiological effects in
plants.
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28. (a) |üsê>∑dü+|üs¡ÿ+ n+fÒ @$T{Ï ?

(b) |üsê>∑dü+|üs¡ÿ+ jÓTTø£ÿ ÁbÕ<Ûëq´+ ‘Ó*j·T|üs¡Ã+&ç.

(a) What is pollination ?

(b) State the importance of pollination.

29. Áø√yÓ÷CÀeTT ìsêàD≤ìï $e]+#·+&ç.

Explain the structure of chromosome.

30. yÓ’<ä́  s¡+>∑+˝À ãjÓ÷f…ø±ï\J jÓTTø£ÿ ÁbÕ<Ûëq´+ >∑T]+∫ #·]Ã+#·+&ç.

Discuss the importance of biotechnology in the field of medicine.

31. yêq˙{Ï dü+s¡ø£åD ìsêàD≤\T @ $<Ûä+>± uÛÑ÷>∑s¡“¤»˝≤\qT Ø#êsY® #̊kÕÔsTT ?

How do rainwater harvesting structures recharge ground water ?

32.
92

U238  α-decayqT bı+~+~. &Ü≥sY m*yÓT+{Ÿ ˝Àì q÷´Á{≤q¢ dü+K´qT ø£qT>=q+&ç.

92
U238 experiences α-decay.  Find the number of neutrons in the daughter element.
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uÛ≤>∑+ - IV/PART - IV

>∑eTìø£ : nìï Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. nedüs¡yÓTÆq #√≥ u§eTà\T ^j·T+&ç.

Note : Answer all the questions.  Draw diagrams wherever necessary.

33. (a) q÷´≥Hé #·\q dü÷Á‘ê\qT ‘Ó*j·TCÒj·T+&ç.

Ò̋<ë

(b) (i) ø£+{Ï ˝ÀbÕ\ eT<Ûä́  ‘&̊Ü\T : eTjÓ÷|æj·÷ eT]j·TT ôV’≤|üsYyÓTÁ{À|æj·÷

(ii) ø±Héπøyé …̋Hé‡ jÓTTø£ÿ @ẙì 2 ñ|üjÓ÷>±\qT sêj·T+&ç.

(a) State Newton’s laws of motion.

OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(ii) Write any 2 applications of concave lens.

34. (a) (i) MgSO
4
⋅7H

2
O qT ẙ&ç#̊dæq|ü⁄Œ&ÉT @+ »s¡T>∑T‘·T+~ ?  ‘·–q düMTø£s¡D+ sêj·T+&ç.

(ii) ôV’≤Á>√k˛ÿ|æø̆ (ÄÁs¡∆‘êø£s¡̧ø£) |ü<ësêú\T eT]j·TT &Ó*≈£L´ôd+{Ÿ  (Á<äMuÛÑ÷‘·) |ü<ësêú\qT
ñ<ëVü≤s¡D\‘√ $e]+#·+&ç.

Ò̋<ë

(b) (i) <∏äs√à …̋’dædt ]j·÷ø£åHé‡ nì ẙ{Ïì n+{≤s¡T ?

(ii) ]e]‡ãT˝Ÿ eT]j·TT ÇÁ]e]‡ãT˝Ÿ ]j·÷ø£åHé‡ eT<Ûä́  ‘&̊Ü Ò̋+{Ï ?

(a) (i) What happens when MgSO
4
⋅7H

2
O is heated ?  Write the appropriate

equation.

(ii) Explain hygroscopic substances and deliquescent substances with examples.

OR

(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.

3x7=21
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35. (a) (i) s¡ø£Ô+ jÓTTø£ÿ $<ÛäT\qT $e]+#·+&ç.

(ii) |üÁ‘·s¡+Á<Ûë\T ‘Ós¡T#·T≈£îH˚+<äT≈£î eT]j·TT eT÷düT≈£îH˚+<äT≈£î >±sY¶ ø£D≤\T u≤<Ûä´‘·
eVæ≤kÕÔsTT. á yê´K´≈£î ø±s¡D+ ‘Ó*j·TCÒj·T+&ç.

Ò̋<ë

(b) (i) Ä\ÿVü‰*ø̆ düeTdǘ \qT n~Û>∑$T+#̊+<äT≈£î e÷sêZ\qT dü÷∫+#·+&ç.

(ii) dü÷ú\ø±j·÷ìøÏ <ë] rùd n+XÊ Ò̋+{Ï ?

(a) (i) Enumerate the functions of blood.

(ii) Guard cells are responsible for opening and closing of stomata.  Give reason
for this statement.

OR

(b) (i) Suggest measures to overcome the problems of an alcoholic.

(ii) What are the contributing factors for obesity ?

- o O o -
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WOr]ÕV : CT S\Lh|SkÕr]jV jLsV nLY°¥ DºV.

Note : This question paper contains four parts.

nLYU - I/PART - I

WOr]ÕVV : (i) IsæL S\Lh|°¥¨OU D¾qRouOfeU. 12x1=12

(ii) fÐ]q]¨OÐ jLsV D¾q°t]¤ j]ÐOU wq]pLp D¾qU
RfqR´aO¾V wq]pO¾qvOU KLkVx¢ SWLcOU IuOfOW.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. SrL¨ãV v]Sƒke¾]¤ fLRu fÐ]q]¨OÐ JfV f¾~oLeV / f¾~°tLeV

Bvw|oLpOçfV ?

(a) j|PŸR£ oPÐLU \sj j]poU

(b) j|PŸR£ nPYOqOf~ j]poU

(c) SqX}p B¨ yUqƒe j]poU

(d) (a) pOU (c) pOU

To project the rockets which of the following principle(s) is/are required ?

(a) Newton’s third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

2. Nkf]SqLi¾]R£ SI pPe]ãV __________ BeV.

(a) Mho (b) ^P¥ (c) KLU (d) vLŸV

SI unit of resistance is __________.

(a) Mho (b) Joule (c) Ohm (d) Watt

3. wmVh fqUY°¥ vLpOv]¤ __________ I¢  a] k] SvYfp]sLeV yµq]¨OÐfV.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s

Sound waves travel in air with a speed of about __________ at NTP.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s
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4. Src]SpL BWVa]v]ã]pORa pPe]ãV __________ BeV.

(a) SrL¦^¢ (b) W|Pr]

(c) RmRW~r¤ (d) So¤ kr´vRpsæLU

Unit of radioactivity is __________.

(a) Roentgen (b) Curie

(c) Becquerel (d) All of the above

5. Nkx¡ WO¨r]R£ j]¡ÚLe¾]¤ DkSpLY]\ÿ]q]¨OÐ SsLzyËqU AgvL

ASsLpV __________ BeV.

(a) k]\ÿt (b) RvËsU

(c) oL®Ls]pU (d) cOrLs]pU

Alloy used in the manufacturing of pressure cooker is __________.

(a) Brass (b) Bronze

(c) Magnalium (d) Duralumin

6. KqO yUpO©¾]R£ IUPAC jLoU 3-o}RRg¤ m|PŸ¢-1-KL¥ IÐLeV. CfV

JfOfqU yUpO©oLeV ?

(a) B¤c]RRzcV (b) WL¡SmLWVy]s]WV By]cV

(c) W}SãL¦ (d) B¤¨SzL¥

The IUPAC name of an organic compound is 3-methyl butan-1-ol.  What type of

compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol
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7. q© NYPÕV IÐ BwpU Bv]xV¨q]\ÿfV __________ BeV.

(a) v}Rj¡ (b) WL¥ sL¢cVð}j¡

(c) v]s|U zL¡Sv (d) z]yV

The concept of blood group is derived by __________.

(a) Wiener (b) Karl Landsteiner

(c) William Harvey (d) His

8. y]¢Yo] __________ qPk}Wqe¾]jV WLqeoLWOÐO.

(a) yPyVSkL¡yV (b) RWLe]c]p

(c) RRySYLŸV (d) WæLo]ScLyVSkL¡yV

Syngamy results in the formation of __________.

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

9. vtqOÐ m}^°¥¨V Bvw|oLp SkLxW°¥ j¤WOÐ vs]p j}tU WPa]p

SWLw°¥ __________ BeV.

(a) RRNkor] S^U SWLw°¥ (b) Ry¡SaLt] SWLw°¥

(c) s}c]YV SWLw°¥ (d) Ry×¡oLSãLSYLe]p

The large elongated cells that provide nutrition to developing sperms are __________.

(a) Primary germ cells (b) Sertoli cells

(c) Leydig cells (d) Spermatogonia
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10. oO¢kV j]sj]Ð]qOÐ ^}vj]¤ j]ÐOU ^}v¢ DqO¾]q]´O IÐV Rft]p]\ÿfV

__________ BeV.

(a) sPp]yV kLyV\¡ (b) KkLq]¢

(c) zL¤RcpV¢ (d) sLoL¡ V̈

Life originates from pre-existing life was showed by :

(a) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck

11. kOyL SWLo¥ R£ SqLY Nkf]SqLiSwx]pOç CjoLeV __________.

(a) Wq]ÒV (b) RjsæV (c) WT k} (d) RopVyV

Pusa Komal is a disease resistant variety of __________.

(a) Sugar cane (b) Rice (c) Cow pea (d) Maize

12. sveYOeoOç o¹]¤ jÐLp] vtqOÐ, o|PSŸx¢ Nm}c]UYV vu] DhVkLh]Õ]\ÿ

Rjsæ]R£ CjoLeV __________.

(a) x¡mLŸ] RyLSjLq (b) ASãLo]ã 2

(c) kOy YTqvV (d) z]oY]q]

__________ is a rice variety produced by mutation breeding that grows well in saline

soil.

(a) Sharbati Sonora (b) Atomita 2

(c) Pusa Gaurav (d) Himgiri
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nLYU - II/PART - II

WOr]ÕV : JRfË]sOU JuV S\Lh|°¥¨V D¾qRouOfOW. S\Lh|U jÒ¡ 22 jV
j]¡mÌoLpOU D¾qRouOfeU.

Note : Answer any seven questions.  Question No. 22 is compulsory.

13. KqO wmVhfqUYU vLpOv]sPRa yµq]¨OSÒL¥, vLpO We]WW¥ :

(a) fqUY¾]R£ yµLqkLfpV¨V AjOyQfoLp] WÒjU R\áOU.

(b) WÒjU R\áORoË]sOU ò]qoLp JRfË]sOU h]wp]sLW]sæ.

(c) fqUY¾]R£ yµLqkLfpV̈ V sUmoLp h]wp]¤ WÒjU R\áOU.

(d) WÒjU R\á]sæ.

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (a) BvQ¾]pORa èveyLi|oLp kq]i] JfLeVV ?

(b) KqO Nkf]È~j] V̈ Bvw|oLp JãvOU WOr´ hPqkq]i] INfpLeV ?

(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

15. I¾SjLt]R£ JRfË]sOU qºV DkSpLY°¥ IuOfOW.

Write any 2  uses of Ethanol.

7x2=14
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16. RryVk]Sqãr] W~Lx|£V IÐL¤ IÍV ?

What is respiratory quotient ?

17. KqO m}^¾]R£ \]NfU vq\ÿV nLY°¥ AapLtRÕaO¾OW.

Draw and label the parts of a sperm.

18. kq]eLoU IÐV krpOÐRfÍ]RjpLeV ?

What is called evolution ?

19. RyLoLã]WV R^¢ RfrLk], S^U RRs¢ ^}¢ RfrLk] IÐ]v fÚ]sOç v|f|LyU

v|©oL¨OW.

Distinguish between somatic gene therapy and germ line gene therapy.

20. A¡mOhU mLi]\ÿ SWLw°¥ (WL¢y¡ SWLw°¥) yLiLqe SWLw°t]¤

j]ÐOU v|f|yVfoLWOÐRf°]Rj ?

How is Cancer Cell different from Normal Cell ?

21. C&oLs]j|°¥ qPkRÕaOÐfV I°RjpLeV ?

How are e-wastes generated ?

22. AvYLSNcL j]poU Nkf]kLh]¨OW.

State Avogadro’s Law.
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nLYU - III/PART - III

WOr]ÕV : JRfË]sOU JuV S\Lh|°¥¨V D¾qRouOfOW. S\Lh|U jÒ¡ 32 jV
j]¡mÌoLpOU D¾qRouOfeU.

Note : Answer any seven questions.  Question No. 32 is compulsory.

23. (a) fLRu fÐ]q]¨OÐ ZaW°tORa yP\W°¥ IuOfOW

(i) NYTºV Weƒ¢ (ii) Rry]ð¡

(iii) RRsãV Io]ã]UYV cSpLcV (iv) I cSpLcV

(b) KqO m¥m]¤ 5 Ry¨£]¤ 12 WPStLU \L¡²V Nkvz]¨OÐO. IÐL¤ B

m¥m]sPRapOç Wr£V INfpLeV ?

(a) Write the symbol for the following component.

(i) Ground connection (ii) Resistor

(iii) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds.  What is the current

through the bulb ?

24. (a) ASãLo]y]ã] IRÍÐV j]¡vÿ\]¨OW.

(b) CO
2
 IÐf]R£ SoLt]¨OsL¡ oLôV We¨L¨OW.

(a) Define Atomicity.

(b) Calculate the molecular mass of CO
2
.

25. (a) fOqOÒV qPkU RWLçOÐRf°]Rj ? fOqOÒV qPkRÕaOÐf]R£ yovLW|U

IuOfOW.

(b) fOqORÒaO¨OÐfV fapOvLjOç 2 oL¡«°¥ Nkf]kLh]¨OW.

(a) How is rust formed ?  Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.

7x4=28
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26. (a) NkWLw yUSwæxeU IÐL¤ IÍV. KqO SWLw¾]jOç]¤ Iv]RapLeV

AfV ja¨OÐfV ?

(b) JSrLm]¨]£pOU J¢JSrLm]¨]£pOU w~yLSWLw v|f|LyU IÍV.

(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

27. vLfWLvòp]sOç yy| SzL¡SoLe]R£ SkqV IuOfOW. yy|°t]¤ Af]R£

wq}qwLyVNfkqoLp JRfË]sOU oPÐV NknLv°¥ IuOfOW.

Name the gaseous plant hormone.  Mention any three of its physiological effects in

plants.

28. (a) kqLYeU AgvL kqLYv]fqeU IÐL¤ IÍV ?

(b) kqLYe¾]R£ NkLiLj|U Nkf]kLh]¨OW.

(a) What is pollination ?

(b) State the importance of pollination.

29. SNWLoSyLo]R£ Zaj v]vq]¨OW.

Explain the structure of chromosome.

30. KTxi j]¡ÚLe qUY¾V mSpLRaWVSjLt^]pORa NkLiLj|U \¡\ÿ R\áOW.

Discuss the importance of biotechnology in the field of medicine.

31. ou WQx]pV̈ LpOç ZajW¥ nPY¡n ^sR¾ r}\L¡²V R\áOÐRf°]Rj ?

How do rainwater harvesting structures recharge ground water ?

32.
92

U238 SwLxe¾]jV v]SipoLWOÐO. ScLŸ¡ IsRo£]Rs j|PSNaLeOWtORa

I¹U WºOk]a]¨OW.

92
U238 experiences α-decay.  Find the number of neutrons in the daughter element.
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nLYU - IV/PART - IV

WOr]ÕV : IsæL S\Lh|°¥¨OU D¾qRouOfOW. Bvw|oOçp]a°t]¤ \]NfU
vqpV¨OW.

Note : Answer all the questions.  Draw diagrams wherever necessary.

33. (a) j|PŸR£ \sj j]po°¥ Nkf]kLh]¨OW.

ARsæË]¤

(b) (i) oSpLk]p, RRzÕ¡RoSNaLÕ]p IÐ} SjNf RRvWs|°¥ fÚ]sOtt

v|f|LyU v|©oL¨OW.

(ii) SWL¦SWvV Rs¢y]R£ JRfË]sOU qºV DkSpLY°¥ IuOfOW.

(a) State Newton’s laws of motion.

OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(ii) Write any 2 applications of concave lens.

34. (a) (i) MgSO
4 
⋅ 7H

2
O Rj \PaL¨OSÒL¥ IÍV yUnv]¨OU ? AjOSpL^|oLp

yovLW|U IuOfOW.

(ii) RRzSNYLyVSWLÕ]WV khL¡À°tOU Rcs]RW~Ry£V khL¡À°tOU

DhLzqe yz]fU v]wh}Wq]¨OW.

ARsæË]¤

(b) (i) fLk v]Za]f Nkf]Nkv¡¾j°¥ AgvL Rf¡SoLRRsy]yV

r]pLƒ¢yV IÐV v]t]¨OÐRfÍ]Rj ?

(ii) r]SvuVy]m]¥ r]pLƒ¢yOU Cr]SvuVy]m]¥ r]pLƒ¢yOU fÚ]sOç

v|f|LyU v|©oL¨OW.

(a) (i) What happens when MgSO
4
⋅7H

2
O is heated ?  Write the appropriate

equation.

(ii) Explain hygroscopic substances and deliquescent substances with examples.

OR

(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.

3x7=21
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35. (a) (i) q©¾]R£ i¡Ú°¥ v]sp]qO¾OW.

(ii) SðLoLã fOr¨OÐf]jOU AapV¨OÐf]jOU WLqeoLWOÐfV YL¡cV

SWLw°tLeV. CT NkyVfLvjpV¨Oç WLqeU IuOfOW.

ARsæË]¤

(b) (i) KqO oh|Ly©jV fR£ NkwVj°¥ fqeU R\áOvLjOç jaka]W¥

j]¡SÇw]¨OW.

(ii) Ao]fv¹¾]jV yLzLpWqoLWOÐ ZaW°¥ JRfsæLU ?

(a) (i) Enumerate the functions of blood.

(ii) Guard cells are responsible for opening and closing of stomata.  Give reason

for this statement.

OR

(b) (i) Suggest measures to overcome the problems of an alcoholic.

(ii) What are the contributing factors for obesity ?

- o O o -
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À̧ÆZÀ£É : F ¥Àæ±Éß¥ÀwæPÉAiÀÄÄ £Á®ÄÌ s̈ÁUÀUÀ¼À£ÀÄß M¼ÀUÉÆArzÉ.

Note : This question paper contains four parts.

s̈ÁUÀ - I / PART - I

À̧ÆZÀ£É : (i) J¯Áè ¥Àæ±ÉßUÀ¼À£ÀÄß GvÀÛj¹. 12x1=12

(ii) PÉÆlÖ £Á®ÄÌ DAiÉÄÌUÀ¼À°è ̧ ÀjAiÀiÁzÀ GvÀÛgÀªÀ£ÀÄß Dj¹ ªÀÄvÀÄÛ CzÀgÀ DAiÉÄÌAiÀÄ PÉÆÃqÀ£ÀÄß
§gÉ¬Äj ªÀÄvÀÄÛ CzÀgÀ C£ÀÄUÀÄtªÁzÀ GvÀÛgÀªÀ£ÀÄß §gÉ¬Äj.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. gÁPÉmïUÀ¼À£ÀÄß AiÉÆÃf À̧®Ä PÉ¼ÀV£À AiÀiÁªÀ vÀvÀézÀ/UÀ¼À CUÀvÀå«zÉ ?

(a) £ÀÆål¤ß£À ZÀ®£ÉAiÀÄ ªÀÄÆgÀ£ÉÃ ¤AiÀÄªÀÄ

(b) £ÀÆål¤ß£À UÀÄgÀÄvÁéPÀµÀðuÉAiÀÄ ¤AiÀÄªÀÄ

(c) gÉÃTÃAiÀÄ DªÉÃUÀzÀ ̧ ÀAgÀPÀëuÉAiÀÄ ¤AiÀÄªÀÄ

(d) (a) ªÀÄvÀÄÛ (c) JgÀqÀÆ

To project the rockets which of the following principle(s) is/are required ?

(a) Newton’s third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

2. ¥ÀæwgÉÆÃzsÀzÀ SI AiÀÄÄ¤mï __________.

(a) Mho (b) eË¯ï (c) Ohm (d) ªÁåmï

SI unit of resistance is __________.

(a) Mho (b) Joule (c) Ohm (d) Watt

3. NTP AiÀÄ°è UÁ½AiÀÄ°è ±À§Ý vÀgÀAUÀUÀ¼ÀÄ À̧j À̧ÄªÀiÁgÀÄ __________ ªÉÃUÀzÉÆA¢UÉ ZÀ° À̧ÄvÀÛªÉ.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s

Sound waves travel in air with a speed of about __________ at NTP.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s
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4. «QgÀt²Ã®vÉAiÀÄ AiÀÄÄ¤mï __________.

(a) gÉÆ¬ÄAmïeÉ£ï (b) PÀÄåj

(c) É̈QégÉ̄ ï (d) ªÉÄÃ°£À J®èªÀÇ

Unit of radioactivity is __________.

(a) Roentgen (b) Curie

(c) Becquerel (d) All of the above

5. ¥ÉæµÀgï PÀÄPÀgï(ºÀ̈ É ¥ÁvÉæ)£À GvÁàzÀ£ÉAiÀÄ°è §¼À̧ ÀÄªÀ «Ä±Àǣ ÉÆÃºÀªÀÅ __________.

(a) »vÁÛ¼É (b) PÀAZÀÄ (c) ªÀiÁåUÉßÃ°AiÀÄA (d) qÀÄgÁ®Äå«Ä£ï

Alloy used in the manufacturing of pressure cooker is __________.

(a) Brass (b) Bronze (c) Magnalium (d) Duralumin

6. MAzÀÄ ¸ÁªÀAiÀÄªÀ À̧AAiÀÄÄPÀÛzÀ IUPAC ºȨ́ ÀgÀÄ 3-«ÄxÉÊ® §ÄvÁ£ï-1-ol. EzÀÄ AiÀiÁªÀ vÉgÀ£ÁzÀ

À̧AAiÀÄÄPÀÛªÀÅ ?

(a) D°ØºÉÊqï (b) PÁ É̈ÆðQì°Pï DªÀÄè

(c) QmÉÆÃ£ï (d) D É̄ÆÌÃºÁ¯ï

The IUPAC name of an organic compound is 3-methyl butan-1-ol.  What type of

compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol
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7. gÀPÀÛ UÀÄA¦£À ¥ÀjPÀ®à£ÉAiÀÄ£ÀÄß __________ jAzÀ ¥ÀqÉAiÀÄ¯Á¬ÄvÀÄ.

(a) «Ã¬Ä£Àgï (b) PÁ¯ïð ¯ÁåAqï¹ÖÃ£Àgï

(c) «°AiÀÄA ºÁªÉÃð (d) »¸ï

The concept of blood group is derived by __________.

(a) Wiener (b) Karl Landsteiner

(c) William Harvey (d) His

8. ¹£ïUÁ«ÄAiÀÄÄ __________ gÀÆ¥ÀÄUÉÆ¼ÀÄî«PÉUÉ/gÀZÀ£ÉUÉ PÁgÀtªÁUÀÄvÀÛzÉ.

(a) dÆó̧ ÉÆàÃgïì (b) PÉÆ¤rAiÀiÁ

(c) eÉÊUÉÆmï (d) PÁèªÉÄÊqÉÆ Ȩ́ÆàÃgïì

Syngamy results in the formation of __________.

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

9. C©üªÀÈ¢ÞºÉÆAzÀÄwÛgÀÄªÀ «ÃAiÀiÁðtÄUÀ½UÉ ¥ÉÆÃµÀPÁA±ÀªÀ£ÀÄß MzÀV À̧ÄªÀ zÉÆqÀØ GzÀÝªÁzÀ PÉÆÃ±ÀUÀ¼ÀÄ

__________.

(a) ¥ÁæxÀ«ÄPÀ ̧ ÀÆPÁëöätÄ PÉÆÃ±ÀUÀ¼ÀÄ (b) Ȩ́mÉÆð° PÉÆÃ±ÀUÀ¼ÀÄ

(c) É̄ÃrUï PÉÆÃ±ÀUÀ¼ÀÄ (d) À̧àªÀiÁðmÉÆUÉÆ¤AiÀiÁ

The large elongated cells that provide nutrition to developing sperms are __________.

(a) Primary germ cells (b) Sertoli cells

(c) Leydig cells (d) Spermatogonia
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10. fÃªÀ£ÀªÀÅ ªÉÆzÀ̄ ÉÃ C¹ÛvÀézÀ°ègÀÄªÀ fÃªÀ£À¢AzÀ ºÀÄlÄÖvÀÛzÉ JAzÀÄ vÉÆÃj¹PÉÆlÖªÀgÀÄ :

(a) ®Æ¬Ä¸ï ¥Áå±ÀÑgï (b) M¥Áj£ï

(c) ºÁ É̄ØÃ£ï (d) ¯ÁªÀiÁPïð

Life originates from pre-existing life was showed by :

(a) Louis Pasteur (b) Oparin

(c) Haldane (d) Lamarck

11. ¥ÀÄ¸Á PÉÆªÀÄ¯ï __________ §UÉAiÀÄ gÉÆÃUÀ ¤gÉÆÃzsÀPÀªÁVzÉ.

(a) PÀ§Äâ (b) s̈ÀvÀÛ

(c) PË ¦Ã (§mÁtÂ) (d) ªÉÄPÉÌ eÉÆÃ¼À

Pusa Komal is a disease resistant variety of __________.

(a) Sugar cane (b) Rice

(c) Cow pea (d) Maize

12. À̧̄ ÉÊ£ï ªÀÄtÂÚ£À°è ZÉ£ÁßV ̈ É¼ÉAiÀÄÄªÀ gÀÆ¥ÁAvÀgÀ ̧ ÀAvÁ£ÉÆÃvÀàwÛ¬ÄAzÀ GvÀàwÛAiÀiÁUÀÄªÀ MAzÀÄ ̈ sÀvÀÛzÀ

«zsÀªÀÅ __________.

(a) ±ÀgÀ§w ̧ ÉÆ£ÉÆgÁ (b) CmÉÆ«ÄmÁ 2

(c) ¥ÀÄ¸Á UËgÀªÀ (d) »ªÀÄVj

__________ is a rice variety produced by mutation breeding that grows well in saline

soil.

(a) Sharbati Sonora (b) Atomita 2

(c) Pusa Gaurav (d) Himgiri
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¨sÁUÀ - II/PART - II

À̧ÆZÀ£É : AiÀiÁªÀÅzÁzÀgÀÆ K¼ÀÄ ¥Àæ±ÉßUÀ¼À£ÀÄß GvÀÛj¹. ¥Àæ±Éß À̧ASÉå 22 PÀqÁØAiÀÄªÁVzÉ.

Note : Answer any seven questions.  Question No. 22 is compulsory.

13. AiÀiÁªÁUÀ ±À§Ý vÀgÀAUÀªÀÅ UÁ½AiÉÆA¢UÉ ZÀ° À̧ÄvÀÛzÉÆÃ, DUÀ UÁ½AiÀÄ PÀtUÀ¼ÀÄ :

(a) vÀgÀAUÀ ZÀ®£ÉAiÀÄ ¢QÌ£À°è PÀA¦ À̧ÄvÀÛzÉ.

(b) PÀA¦ À̧ÄvÀÛzÉ DzÀgÉ AiÀiÁªÀÅzÉÃ ¹ÜgÀ ¢QÌ£À°è C®è.

(c) vÀgÀAUÀ ZÀ®£ÉAiÀÄ ¢QÌUÉ ®A§ªÁV PÀA¦ À̧ÄvÀÛzÉ.

(d) PÀA¦ À̧ÄªÀÅ¢®è.

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

14. (a) DªÀvÀð£ÀzÀ ±ÀæªÀå ±ÉæÃtÂ AiÀiÁªÀÅzÀÄ ?

(b) ¥ÀæwzsÀé¤UÉ É̈ÃPÁUÀÄªÀ PÀ¤µÀÖ zÀÆgÀ JµÀÄÖ ?

(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

15. ExÁ£ÉÆ¯ï£À AiÀiÁªÀÅzÁzÀgÀÆ 2 G¥ÀAiÉÆÃUÀUÀ¼À£ÀÄß §gÉ¬Äj.

Write any 2  uses of Ethanol.

7x2=14
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16. G¹gÁlzÀ PÉÆÃ±ÉÃAmï K£ÀÄ ?

What is respiratory quotient ?

17. «ÃAiÀiÁðtÄ«£À avÀæªÀ£ÀÄß awæ¹ ªÀÄvÀÄÛ s̈ÁUÀUÀ¼À£ÀÄß UÀÄgÀÄw¹.

Draw and label the parts of a sperm.

18. «PÀ̧ À£À JAzÀÄ AiÀiÁªÀÅzÀPÉÌ PÀgÉAiÀÄÄvÁÛgÉ ?

What is called evolution ?

19. Ȩ́ÆªÉÄnPï fÃ£ï xÉgÀ¦ ªÀÄvÀÄÛ dªÀiïð É̄Ê£ï fÃ£ï xÉgÀ¦AiÀÄ £ÀqÀÄªÉ ªÀåvÁå¬Ä¹.

Distinguish between somatic gene therapy and germ line gene therapy.

20. PÁå£Àìgï PÉÆÃ±ÀªÀÅ ¸ÁªÀiÁ£Àå PÉÆÃ±ÀVAvÀ ºÉÃUÉ ©ü£ÀßªÁVzÉ ?

How is Cancer Cell different from Normal Cell ?

21. E-vÁådåUÀ¼ÀÄ ºÉÃUÉ GvÀàwÛAiÀiÁUÀÄvÀÛªÉ ?

How are e-wastes generated ?

22. CªÉÇUÁqÉÆæÃ £À ¤AiÀÄªÀÄªÀ£ÀÄß w½¹.

State Avogadro’s Law.
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¨sÁUÀ - III/PART - III

À̧ÆZÀ£É : AiÀiÁªÀÅzÁzÀgÀÆ K¼ÀÄ ¥Àæ±ÉßUÀ¼À£ÀÄß GvÀÛj¹. ¥Àæ±Éß À̧ASÉå 32 PÀqÁØAiÀÄªÁVzÉ.

Note : Answer any seven questions.  Question No. 32 is compulsory.

23. (a) PÉ¼ÀV£À WÀlPÀUÀ½UÉ aºÉßAiÀÄ£ÀÄß §gÉ¬Äj.

(i) £É® À̧A¥ÀPÀð

(ii) ¥ÀæwgÉÆÃzsÀPÀ

(iii) É̈¼ÀPÀÄ ºÉÆgÀ̧ ÀÆ À̧ÄªÀ qÀAiÉÆÃqï

(iv) qÀAiÉÆÃqï

(b) 12 PÉÆÃ®A¨ï«£À MAzÀÄ ZÁdÄð §°â£À ªÀÄÆ®PÀ 5 Ȩ́PÉAqÀÄUÀ¼À°è ºÀjAiÀÄÄvÀÛzÉ. §°â£À
ªÀÄÆ®PÀ ºÀjAiÀÄÄªÀ PÀgÉAmï K£ÀÄ ?

(a) Write the symbol for the following component.

(i) Ground connection

(ii) Resistor

(iii) Light emitting diode

(iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds.  What is the current

through the bulb ?

24. (a) ¥ÀgÀªÀiÁtÄvÀéªÀ£ÀÄß ªÁåSÁå¤¹.

(b) CO
2
 «£À CtÂéPÀ zÀæªÀågÁ²AiÀÄ£ÀÄß PÀAqÀÄ»r¬Äj.

(a) Define Atomicity.

(b) Calculate the molecular mass of CO
2
.

25. (a) vÀÄPÀÄÌ ºÉÃUÉ gÀÆ¥ÀÄUÉÆ¼ÀÄîvÀÛzÉ ?  vÀÄQÌ£À gÀÆ¥ÀÄUÉÆ¼ÀÄî«PÉUÉ À̧«ÄÃPÀgÀtªÀ£ÀÄß PÉÆr.

(b) vÀÄPÀÄÌ »rAiÀÄÄ«PÉAiÀÄ£ÀÄß vÀqÉUÀlÄÖªÀ 2 «zsÁ£ÀUÀ¼À£ÀÄß w½¹.

(a) How is rust formed ?  Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.

7x4=28
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26. (a) ¥sÉÆÃmÉÆ¹AxÉ¹¸ï JAzÀgÉÃ£ÀÄ ªÀÄvÀÄÛ PÉÆÃ±ÀzÀ°è EzÀÄ J°è ̧ ÀA s̈À« À̧ÄvÀÛzÉ ?

(b) DªÀÄèd£ÀPÀ¥ÀÆjvÀ (KgÉÆÃ©Pï) ªÀÄvÀÄÛ DªÀÄèd£ÀPÀgÀ»vÀ (C£ÉgÉÆ©Pï) G¹gÁlªÀ£ÀÄß ªÀåvÁå¬Ä¹.

(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

27. C¤® À̧̧ Àå ºÁªÉÆÃð£ï£À£ÀÄß ºȨ́ Àj¹. À̧̧ ÀåUÀ¼À°è CªÀÅUÀ¼À AiÀiÁªÀÅzÁzÀgÀÆ ªÀÄÆgÀÄ ±ÁjÃjPÀ

¥ÀjuÁªÀÄUÀ¼À£ÀÄß  £ÀªÀÄÆ¢¹.

Name the gaseous plant hormone.  Mention any three of its physiological effects in

plants.

28. (a) ¥ÀgÁUÀ̧ Àà±Àð JAzÀgÉÃ£ÀÄ ?

(b) ¥ÀgÁUÀ̧ Àà±ÀðzÀ ¥ÁæªÀÄÄRåvÉAiÀÄ£ÀÄß w½¹.

(a) What is pollination ?

(b) State the importance of pollination.

29. PÉÆæªÉÆÃeÉÆÃªÀiï£À gÀZÀ£ÉAiÀÄ£ÀÄß «ªÀj¹.

Explain the structure of chromosome.

30. OµÀ¢üAiÀÄ PÉëÃvÀæzÀ°è eÉÊ«PÀ vÀAvÀæeÁÕ£ÀzÀ ¥ÁæªÀÄÄRåvÉAiÀÄ£ÀÄß ZÀað¹.

Discuss the importance of biotechnology in the field of medicine.

31. ªÀÄ¼É¤ÃgÀÄ PÉÆAiÀÄÄè gÀZÀ£ÉUÀ¼ÀÄ CAvÀdð®ªÀ£ÀÄß ºÉÃUÉ ¥ÀÅ£Àgï s̈Àwð ªÀiÁqÀÄvÀÛªÉ ?

How do rainwater harvesting structures recharge ground water ?

32.
92

U238, α-rPÉÃ AiÀÄ£ÀÄß C£ÀÄ s̈À« À̧ÄvÀÛzÉ.  ¥ÀÄwæ CA±ÀzÀ°è £ÀÆåmÁæ£ïUÀ¼À ̧ ÀASÉåAiÀÄ£ÀÄß PÀAqÀÄ»r¬Äj.

92
U238 experiences α-decay.  Find the number of neutrons in the daughter element.



104972

¨sÁUÀ - IV/PART - IV

À̧ÆZÀ£É : J¯Áè ¥Àæ±ÉßUÀ¼À£ÀÄß GvÀÛj¹.  CUÀvÀå«zÀÝ°è avÀæUÀ¼À£ÀÄß awæ¹.

Note : Answer all the questions.  Draw diagrams wherever necessary.

33. (a) £ÀÆål¤ß£À ZÀ®£ÉAiÀÄ ¤AiÀÄªÀÄªÀ£ÀÄß w½¹.

CxÀªÁ

(b) (i) PÀtÂÚ£À zÉÆÃµÀUÀ¼À£ÀÄß ªÀåvÁå¬Ä¹ : ªÀÄAiÉÆÃ¦AiÀiÁ ªÀÄvÀÄÛ ºÉÊ¥ÀgïªÉÄmÉÆæ¦AiÀiÁ.

(ii) ¤ªÀÄß ªÀÄ À̧ÆgÀzÀ AiÀiÁªÀÅzÁzÀgÀÆ 2 C£Àé¬ÄPÉUÀ¼À£ÀÄß §gÉ¬Äj.

(a) State Newton’s laws of motion.

OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(ii) Write any 2 applications of concave lens.

34. (a) (i) MgSO
4
⋅7H
2
O £ÀÄß ©¹ªÀiÁrzÁUÀ K£ÁUÀÄvÀÛzÉ ? ̧ ÀÆPÀÛªÁzÀ ̧ À«ÄÃPÀgÀtªÀ£ÀÄß §gÉ¬Äj.

(ii) ºÉÊUÉÆæÃ Ȩ́ÆÌÃ¦Pï ªÀ̧ ÀÄÛUÀ¼ÀÄ ªÀÄvÀÄÛ r°Qȩ́ ÉAmï ( À̧ÆPÀëöä) ªÀ̧ ÀÄÛUÀ¼À£ÀÄß GzÁºÀgÀuÉAiÉÆA¢UÉ

«ªÀj¹.

CxÀªÁ

(b) (i) xÀªÉÆÃð É̄Ê¹¸ï ¥ÀæwQæAiÉÄUÀ¼ÀÄ JAzÀÄ AiÀiÁªÀÅzÀPÉÌ PÀgÉAiÀÄÄvÁÛgÉ ?

(ii) »AwgÀÄV¸À§ºÀÄzÁzÀ (jªÀ¹ð§¯ï) ªÀÄvÀÄÛ »AwgÀÄV¸À¯ÁUÀzÀ (EgïjªÀ¹ð§¯ï)
¥ÀæwQæAiÉÄUÀ¼À£ÀÄß ªÀåvÁå¬Ä¹.

(a) (i) What happens when MgSO
4
⋅7H
2
O is heated ?  Write the appropriate

equation.

(ii) Explain hygroscopic substances and deliquescent substances with examples.

OR

(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.

3x7=21
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35. (a) (i) gÀPÀÛzÀ QæAiÉÄAiÀÄ£ÀÄß/ PÁAiÀÄðªÀ£ÀÄß JtÂPÉ ªÀiÁr.

(ii) gÀPÀëPÀ PÉÆÃ±ÀUÀ¼ÀÄ ¸ÉÆÖÃªÀiÁmÁzÀ vÉgÉAiÀÄÄ«PÉ ªÀÄvÀÄÛ ªÀÄÄZÀÄÑ«PÉUÉ PÁgÀtªÁUÀÄvÀÛªÉ.

F ºÉÃ½PÉUÉ PÁgÀt PÉÆr.

CxÀªÁ

(b) (i) D É̄ÆÌºÁ®ÄåPÀÛgÀ À̧ªÀÄ Ȩ́åUÀ¼À£ÀÄß ¤ªÁj À̧®Ä PÀæªÀÄUÀ¼À£ÀÄß À̧®ºÉªÀiÁr.

(ii) À̧ÆÜ®PÁAiÀÄvÉUÉ PÁgÀtªÁUÀÄªÀ CA±ÀUÀ¼ÀÄ AiÀiÁªÀÅªÀÅ ?

(a) (i) Enumerate the functions of blood.

(ii) Guard cells are responsible for opening and closing of stomata.  Give reason

for this statement.

OR

(b) (i) Suggest measures to overcome the problems of an alcoholic.

(ii) What are the contributing factors for obesity ?

- o O o -
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Note : This question paper contains four parts.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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To project the rockets which of the following principle(s) is/are required ?

(a) Newton’s third law of motion

(b) Newton’s law of gravitation

(c) Law of conservation of linear momentum

(d) Both (a) and (c)

SI unit of resistance is __________.

(a) Mho (b) Joule (c) Ohm (d) Watt

Sound waves travel in air with a speed of about __________ at NTP.

(a) 340×108 m/s (b) 340 m/s

(c) 3×108 m/s (d) 3×10−8 m/s
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Unit of radioactivity is __________.

(a) Roentgen (b) Curie

(c) Becquerel (d) All of the above

Alloy used in the manufacturing of pressure cooker is __________.

(a) Brass (b) Bronze (c) Magnalium (d) Duralumin

The IUPAC name of an organic compound is 3-methyl butan-1-ol.  What type of

compound it is ?

(a) Aldehyde (b) Carboxylic Acid

(c) Ketone (d) Alcohol
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The concept of blood group is derived by __________.

(a) Wiener (b) Karl Landsteiner

(c) William Harvey (d) His

Syngamy results in the formation of __________.

(a) Zoospores (b) Conidia

(c) Zygote (d) Chlamydospores

The large elongated cells that provide nutrition to developing sperms are __________.

(a) Primary germ cells (b) Sertoli cells

(c) Leydig cells (d) Spermatogonia
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Life originates from pre-existing life was showed by :

(a) Louis Pasteur (b) Oparin (c) Haldane (d) Lamarck

Pusa Komal is a disease resistant variety of __________.

(a) Sugar cane (b) Rice (c) Cow pea (d) Maize

__________ is a rice variety produced by mutation breeding that grows well in saline

soil.

(a) Sharbati Sonora (b) Atomita 2

(c) Pusa Gaurav (d) Himgiri
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7x2=14

Note : Answer any seven questions.  Question No. 22 is compulsory.

When a sound wave travels through air, the air particles :

(a) vibrate along the direction of the wave motion.

(b) vibrate but not in any fixed direction.

(c) vibrate perpendicular to the direction of the wave motion.

(d) do not vibrate.

(a) What is the audible range of frequency ?

(b) What is the minimum distance needed for an Echo ?

Write any 2  uses of Ethanol.
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What is respiratory quotient ?

Draw and label the parts of a sperm.

What is called evolution ?

Distinguish between somatic gene therapy and germ line gene therapy.

How is Cancer Cell different from Normal Cell ?

How are e-wastes generated ?

State Avogadro’s Law.
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Note : Answer any seven questions.  Question No. 32 is compulsory.

(a) Write the symbol for the following component.

(i) Ground connection (ii) Resistor

(iii) Light emitting diode (iv) A diode

(b) A charge of 12 Coulomb flows through a bulb in 5 seconds.  What is the current

through the bulb ?

(a) Define Atomicity.

(b) Calculate the molecular mass of CO
2
.

(a) How is rust formed ?  Give the equation for formation of rust.

(b) State 2 methods of preventing corrosion.

7x4=28
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(a) What is photosynthesis and where does it occur in a cell ?

(b) Differentiate Aerobic and Anaerobic respiration.

Name the gaseous plant hormone.  Mention any three of its physiological effects in

plants.

(a) What is pollination ?

(b) State the importance of pollination.

Explain the structure of chromosome.

Discuss the importance of biotechnology in the field of medicine.

How do rainwater harvesting structures recharge ground water ?

92
U238 experiences α-decay.  Find the number of neutrons in the daughter element.
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3x7=21

Note : Answer all the questions.  Draw diagrams wherever necessary.

(a) State Newton’s laws of motion.

OR

(b) (i) Differentiate the eye defects : Myopia and Hypermetropia.

(ii) Write any 2 applications of concave lens.

(a) (i) What happens when MgSO
4
⋅7H
2
O is heated ?  Write the appropriate

equation.

(ii) Explain hygroscopic substances and deliquescent substances with examples.

OR

(b) (i) What are called thermolysis reactions ?

(ii) Differentiate reversible and irreversible reactions.
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(a) (i) Enumerate the functions of blood.

(ii) Guard cells are responsible for opening and closing of stomata.  Give reason

for this statement.

OR

(b) (i) Suggest measures to overcome the problems of an alcoholic.

(ii) What are the contributing factors for obesity ?

- o O o -
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